Lo vl

- @t
_ € 5
[(2e™™ — 5x)dx .14 S - 2E 4o
x HEE
=-2¢e - 2 TC

9y . NPMON 9N Pwn Yy = 2x + 5 wnw pm . f(x) = 2e* nawon nnm .19

. f(x) ™NPNAN NN RN YN DN D

/'3’_??3‘0\;\ 0/&’0 ,’)/Ovb/ P@% é)} ,'))’]?J Q/\ /OI_J1/~X'\ ‘0') fJ -
,Q!L\:zjfo MU ) ,lgf .f’OJn for 1.0 L2 D
.Dﬂﬁ,\ /(13 JQI L= ﬁ"//wb fae)\

16,( = 2— /\[d/@/\/,:) X‘;O )‘S’\ )\0> e
C;c — ,DIQmA /(,3 /-fo (dj’/// il fe///.\
X=0 /‘Z@ =20t5 =9

(0, ‘5) .',3J~;:Q/,\.\ /‘pL

pé‘)ﬁ /\fQ 2| (ﬁd 5)’0 I35 rf> -
y (2676)4% = ZQ%%(/

o ,c/-c k2 A 3\ (o,e) Iy o3y e
H-—2€ T<€

5° ) t<
Len =227 3
3= ¢



9% A
SU NYPN NPV y-n TW . f (%) = }1_( — 120 f(x) mspnan Hv MmN .15

S(x) mspan R NS INN f(x) mspnon

® oKD fop’)(o KL A% 0 _oddy fe oYY »
IR /(3
’;—l e [x
[ - ¢ =0 ‘(I,D [lj'(w
= |

5(7!- ) de e [ Pelye y30y -

L=l i) -x rc
.[fb /oB’rJ)\ p’}P‘ag O/ l) /-b ,:‘3) /~0’>
L= ) -1 ¢

=2

fea= i) -x t2



